HA2[E] BBy 7 AR KK R

=Y - F B HTRAK T — /L (50m) 1/2
HIH ;2024911 H3H (H)
No. 10 B+ 100m BH# A4 L L—RREE KRG 57.66
L 1112 >
IEfr K 4 R 2EOKE BF
1 HH ®E B I G#=R /N5 3/ 2 1:04.30 9% ( 0.64)
PR U S BIG%E%B /N6 2/ 2 1:09.99 6% ( 0.71)
3AA R BIGiﬁSE%Z L1/ 2 1:11.18 5% ( 0.81)
4 fFig & B Igéz%iﬁ /N5 2/ 6 1:11.54 Tk (0.74)
5 LA it B Igé?”%uﬂﬂ /N5 1/3 0 1:14.89 5% (0.73)
6 FER VLR B Igé%@ /N5 1/ 6 1:15.03 5k ( 0.72)
OPN dbJil 5 EPHB(557(2: 1 4/ 5 1:01.52 9% ( 0.64)
OPN i)l &K L»ﬁ:zggs'gé 1 4/ 2 1:02.89 8tk ( 0.70)
OPN \#f &2 A %29%7£E13H /N6 3/ 4 1:04.33 8tk ( 0.67)
OPN [LIE K ﬁﬂ?os'lé /N5 3/ 7 1:06. 21 9k ( 0.64)
OPN {7k #ht “75%5;# /N6 2/ 5 1:09.12 Tk (0.74)
OPN /[VBR Rk 7%;&5}! /N6 1/ 4 1:09.33 6% ( 0.73)
OPN JInfgfE 2 1 A MS%E# /N5 2/ 7 1:11.65 Tk ( 0.70)
OPN AZBf 2 i %*%335'9% N6 2/3 0 1:12.93 4% ( 0.66)
OPN 2 K A %z-}zgqﬂﬁ /N5 1/ 5 1:15.52 5% ( 0.90)
No. 10 5B+ 100m BHH BALLU—RRE AR 53.52
L 13- 14 >
IEfr K 4 R 2EOKE BF
1 IR i BIGHH % 1 5/ 3 58. 83 9% ( 0.70)
2 it KM B Izég%ﬁ 2 4/ 1 1:01.80 % (0.76)
3 BA ek B 13(()“;977’ ey 3 4/ 8  1:02.64 6% ( 0.53)
4 e 2 B Iggd%ﬁ 2 3/ 3 1:03.79 Tk (0.72)
5 LB PR KTB%ELIDE)Zﬁ i1 3/ 8 1:04. 84 6% ( 0.67)
6 g Wt BIG%E? 11 3/ 1 1:05.09 6% ( 0.67)
OPN NH IEA %%nsg 2 5/ 5 58. 38 8tk ( 0.63)
OPN JHif%y Fnzs %1%278'% 2 5/ 2 59. 27 9% ( 0.69)
OPN B Z= K] A %Zizgtfﬂﬁ 1 5/ 8 59.79 8tk ( 0.62)
OPN filtA RK %1%‘285'6% 2 4/ 3 1:01.28 7k (0.61)
OPN A1F Bi/E 77%%2%# 3 3/ 5 1:03.55 6% ( 0.80)
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HA2[E] BBy 7 AR KK R

=Y - F B HTRAK T — /L (50m) 2/2
HIH ;2024911 H3H (H)
No. 10 5B+ 100m BHH BALL—RRE Az 53.52
L 13- 14 >
B K 4 R 2EOKE B
OPN BRLHT &=} EP531§4(1: 2 2/ 4 1:05.68 6% ( 0.68)
No. 10 5B+ 100m EHE B A LL—RRBE ARELE 24
L 15wk >
g K 4 B 2E KK B
L 7ERT KAA KTPO%M w6/ 3 56. 42 8k ( 0.64)
2 R K B 12%6787 ey w2 6/ 7 56. 68 7#%  ( 0.63)
3 EnRERKRR B IZZ}%E ml 5/ 4 57.12 8tk ( 0.70)
4 EP PRI B 12%;270’\: B2 6/ 1 57. 1 Tk (0.60)
5 eI fEHK B I%%@ Bl 6/ 8  1:00.65 6% ( 0.72)
6 fE% K B 122;7%57J< m3 4/ 4 1:02.26 5% ( 0.65)
T NHE B B 12%?%%53 w2 4/ 6  1:05.72 3k (0.85)
OPN & Hi&E Eﬁggigg K3 7/ 4 50. 96 9% ( 0.64)
OPN fA % AKI# kR EP:'?TZ;M K3 7/ 6 52. 68 9% ( 0.72)
OPN JEHh  fil EP?E%M X1 7/3 52.79 9% ( 0.61)
OPN A1l &K qﬂﬁ\%{gl X2 6/ 5 53. 36 8tk ( 0.63)
OPN & HE—H] EP?\Z?:% K2 1/ °8 53. 41 8tk ( 0.65)
OPN f&iH = EF'f;T?g'toz K2 1/ 7 53. 42 8fk ( 0.59)
OPN FZA 2k EF':'?LZ?(BZ X3 1/ 5 53. 44 8tk ( 0.56)
OPN il Vhpife EP{%{? KXl 7/1 53.77 9% ( 0.66)
OPN Pk = FRUR K2 6/ 4 54.18 8tk ( 0.69)
OPN JR I ZSE ﬁﬂ%go Bl 6/ 2 54.97 9k ( 0.63)
OPN K &b EPEI26S7é Kl 6/ 6 59. 05 58 ( 0.64)
OPN A1 % %1%?28523 ml 5/ 7 59. 68 % ( 0.66)
OPN & Hpit LR %iﬁggt(%ﬁ‘.% 1l 5/ 1 59. 84 Tk (0.71)
OPN =16 &Uh HHSC &l 4/ 7  1:00.51 6% ( 0.62)
OPN fBH Rif EPEI?ESEC} 3 3/6 1:04.78 4k (0.72)
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